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7 100kN/mM#E#BZ5 | 1.00 | 000 ~ 169 125.88 |3m%Ei#BZ 5 -~ - 100kN/m%#8%% | 1.00 | 11.37 ~ 19.81 125.88 [3mZE#EZ 5 -~ -
s 1.00 | 1.69 ~ 947 100.00 | =nlst | 0.00 ~ 9.47| 2.18 11.45 st 1.00 | 6.00 ~ 1137 100.00 | =nst | 6.00 ~ 1981|218 11.45
2 100kN/m##BZ5 | 1.00 | 000 ~ 171 126.14 |3m%E#BZ 5 -~ 100kN/mM&#z25 | 1.00 | 11.81 ~ 21.94| 126.14 |3mZE#z25 -~
s 1.00 | 1.71 ~ 949 100.00 | =nlst | 0.00 ~ 9.49 | 2.45 12.84 st 1.00 | 6.00 ~ 1181 100.00 | =nst | .00 ~ 2194| 2.45 12.84
3 100kN/m##8x5 | 1.00 | 0.00 ~ 231 135.96 |3m%E#BZ 5 ~ 100kN/mM%E#8%% | 1.00 | 11.04 ~ 24.21 135.96 |3mZEEZ D -~
s 1.00 | 231 ~ 1009 100.00 | =nst | 000 ~ 1009| 263 13.28 st 1.00 | 6.00 ~ 1104 100.00 | =nst | 6.00 ~ 2421| 2.63 13.28
4 100kN/mM%#BZ5 | 1.00 | 000 ~ 220 134.16 |3m%Ei#BZ 5 ~ 100kN/mM%E#BZ5 | 1.00 | 1202 ~ 3411 134.16 |3m%Ei#BZ 5 -~
s 1.00 | 220 ~ 998 100.00 | =nst | 0.00 ~ 9.958| 2.84 14.87 st 1.00 | 6.00 ~ 1202 100.00 | =St | .00 ~ 3411 2.84 14.87
5 100kN/mM%#BZ5 | 1.00 | 000 ~ 1.70 125.97 |3m%E#BZ 5 ~ 100kN/mM&#z25 | 1.00 | 1226 ~ 2425| 12597 |3mZ#z25 -~
s 1.00 | 1.70 ~ 948 100.00 | =nlst | 0.00 ~ 9.48| 2.42 12.67 st 1.00 | 6.00 ~ 1226 100.00 | =nSt | .00 ~ 2425| 2.42 12.67
P 100kN/m##Bx5 | 1.00 | 000 ~ 0.71 110.53 |3m%E#BZ D ~ 100kN/mM%E#25 | 1.00 | 1269 ~ 1624| 110.53 |3mE#Z5 -~
s 1.00 071 ~ 849 100.00 | #nst | 0.00 ~ 849 | 2.10 11.00 st 1.00 | 6.00 ~ 1269 100.00 | =nst | 6.00 ~ 1624)| 2.10 11.00
- 100kN/m%E#BZ5 | 1.00| 000 ~ 1.28| 119.43 |3mEEZD ~ 100kN/mM&#8z25 | 1.00 | 1269 ~ 2097 119.43 |3mZ#Ez5 -~
s 1.00 | 1.28 ~ 9.07 100.00 | #nst | 0.00 ~ 9.07 | 2.59 12.54 st 1.00 | 6.00 ~ 1269 100.00 | =nst | 6.00 ~ 2097| 2.39 12.54
P 100kN/mM%E#BZ 5 ~ -|3mEBZD ~ 100kN/m%#8% % ~ -1 3mEBZD -~
s 1.00 | 0.00 ~ 698 8852 | =St | 0.00 ~ 0.00| 1.63 8.64 st 1.00 | 6.00 ~ 9.16 88.52 | #h4 | 5,00 ~ 9.16| 1.63 8.64
9 100kN/mM%#BZ % ~ -|3mEBZD ~ 100kN/mM%#8% % ~ S| 3mEBZD -~
s 1.00 | 0.00 ~ 716 90.99 | =hLst | 0.00 ~ 000 1.69 8.85 st 1.00 | 6.00 ~ 9.19 90.99 | =hH | 5.00 ~ 9.19| 1.69 8.85
10 100kN/mM%#BZ % ~ -|3mEBZD ~ 100kN/m%#8% % ~ -1 3mEBZD -~
s 1.00 | 0.00 ~ 751 9515 | =S | 000 ~ 731\ 1.93 10.13 st 1.00 | 6.00 ~ 10.96 93.15 | #hdst | 5,00 ~ 1096 1.93 10.13
11 100kN/mM%#BZ % ~ -|3mEBZD ~ 100kN/m%#8% % ~ -1 3mEBZD -~
s 1.00 | 0.00 ~ 489 60.93 | FnLUSY | 000 ~ 489 | 226 11.83 st 1.00 | 6.00 ~ 8.00 60.93 | TSt | 5.00 ~ 800 2.26 11.83
12 100kN/mM%#BZ % ~ -|3mEBZD ~ 100kN/mM%#8% % ~ S| 3mEBZD -~
zhst ~ Fhst ~ Fhst ~ zhLst ~
13 100kN/mM%#BZ 5 ~ -|3mEBZD ~ 100kN/mM%#8% % ~ -1 3mEBZD -~
s 1.00 | 0.00 ~ 496 61.85 | FnLSY | 000 ~ 496 | 2.14 11.22 st 1.00 | 6.00 ~ 7.00 61.85 | Ths | 5.00 ~ 7.00)| 2.14 11.22
14 100kN/mM%#BZ 5 ~ -|3mEBZD ~ 100kN/m%#8% % ~ S| 3mEBZD -~
s 1.00 | 0.00 ~ 5.04 62.75 | FnLUSY |ooo ~ 504|212 11.14 st 1.00 | 6.00 ~ 7.00 62.75 | =hst | 5,00 ~ 7.00)| 212 11.14
15 100kN/mM%#BZ 5 ~ -|3mEBZD ~ 100kN/mM%#8% % ~ -1 3mEBZD -~
s 1.00 | 0.00 ~ 477 59.44 | =S | 0.00 ~ 0.00| 1.70 8.91 st 1.00 | 6.00 ~ 5.00 59.44 | =N | 6.00 ~ 5.00| 1.70 8.91




